# Research Article 

# Product of the Generalized $L$-Subgroups 

Dilek Bayrak and Sultan Yamak<br>Department of Mathematics, Namik Kemal University, 59000 Tekirdağ, Turkey<br>Correspondence should be addressed to Dilek Bayrak; dbayrak@nku.edu.tr

Received 6 July 2015; Accepted 8 February 2016
Academic Editor: Ali Jaballah
Copyright © 2016 D. Bayrak and S. Yamak. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

We introduce the notion of $(\lambda, \mu)$-product of $L$-subsets. We give a necessary and sufficient condition for $(\lambda, \mu)$ - $L$-subgroup of a product of groups to be $(\lambda, \mu)$-product of $(\lambda, \mu)$-L-subgroups.

## 1. Introduction

Starting from 1980, by the concept of quasi-coincidence of a fuzzy point with a fuzzy set given by Pu and Liu [1], the generalized subalgebraic structures of algebraic structures have been investigated again. Using the concept mentioned above, Bhakat and Das $[2,3]$ gave the definition of $(\alpha, \beta)$ fuzzy subgroup, where $\alpha, \beta$ are any two of $\{\epsilon, q, \in \vee q, \in \wedge q\}$ with $\alpha \neq \in \wedge q$. The $(\epsilon, \in \vee q)$-fuzzy subgroup is an important and useful generalization of fuzzy subgroups that were laid by Rosenfeld in [4]. After this, many other researchers used the idea of the generalized fuzzy sets that give several characterization results in different branches of algebra (see [5-10]). In recent years, many researchers make generalizations which are referred to as $(\lambda, \mu)$-fuzzy substructures and $\left(\epsilon_{\lambda}, \epsilon_{\lambda} \vee q_{\mu}\right)$ fuzzy substructures on this topic (see [11-15]).

Identifying the subgroups of a Cartesian product of groups plays an essential role in studying group theory. Many important results on characterization of Cartesian product of subgroups, fuzzy subgroups, and TL-fuzzy subgroups exist in literature. Chon obtained a necessary and sufficient condition for a fuzzy subgroup of a Cartesian product of groups to be product of fuzzy subgroups under minimum operation [16]. Later, some necessary and sufficient conditions for a $T L$-subgroup of a Cartesian product of groups to be a $T$ product of TL-subgroups were given by Yamak et al. [17]. A subgroup of a Cartesian product of groups is characterized by subgroups in the same study. Consequently, it seems to be interesting to extend this study to generalized $L$-subgroups. In this paper, we introduce the notion of the $(\lambda, \mu)$-product
of $L$-subsets and investigate some properties of the $(\lambda, \mu)$ product of $L$-subgroups. Also, we give a necessary and sufficient condition for $(\lambda, \mu)$ - $L$-subgroup of a Cartesian product of groups to be a product of $(\lambda, \mu)$ - $L$-subgroups.

## 2. Preliminaries

In this section, we start by giving some known definitions and notations. Throughout this paper, unless otherwise stated, $G$ always stands for any given group with a multiplicative binary operation, an identity $e$ and $L$ denote a complete lattice with top and bottom elements 1,0 , respectively.

An $L$-subset of $X$ is any function from $X$ into $L$, which is introduced by Goguen [18] as a generalization of the notion of Zadeh's fuzzy subset [19]. The class of $L$-subsets of $X$ will be denoted by $F(X, L)$. In particular, if $L=[0,1]$, then it is appropriate to replace $L$-subset with fuzzy subset. In this case the set of all fuzzy subsets of $X$ is denoted by $F(X)$. Let $A$ and $B$ be $L$-subsets of $X$. We say that $A$ is contained in $B$ if $A(x) \leq B(x)$ for every $x \in X$ and is denoted by $A \leq B$. Then $\leq$ is a partial ordering on the set $F(X, L)$.

Definition 1 (see [20]). An $L$-subset of $G$ is called an $L$ subgroup of $G$ if, for all $x, y \in G$, the following conditions hold:
(G1) $A(x) \wedge A(y) \leq A(x y)$.
(G2) $A(x) \leq A\left(x^{-1}\right)$.
In particular, when $L=[0,1]$, an $L$-subgroup of $G$ is referred to as a fuzzy subgroup of $G$.

Definition 2 (see [12]). Let $\lambda, \mu \in L$ and $\lambda<\mu$. Let $A$ be an $L$-subset of $G$. $A$ is called $(\lambda, \mu)$-L-subgroup of $G$ if, for all $x, y \in G$, the following conditions hold:
(i) $A(x y) \vee \lambda \geq A(x) \wedge A(y) \wedge \mu$.
(ii) $A\left(x^{-1}\right) \vee \lambda \geq A(x) \wedge \mu$.

Denote by $F S(\lambda, \mu, G, L)$ the set of all $(\lambda, \mu)$ - $L$-subgroups of $G$. When $L=[0,1]$, its counterpart is written as $F S(\lambda, \mu, G)$.

Unless otherwise stated, $L$ always represents any given distributive lattice.

## 3. Product of $(\lambda, \mu)$-L-Subgroups

Definition 3 (see [16]). Let $A_{i}$ be an $L$-subset of $G_{i}$ for each $i=1,2, \ldots, n$. Then product of $A_{i}(i=1,2, \ldots, n)$ denoted by $A_{1} \times A_{2} \times \cdots \times A_{n}$ is defined to be the $L$-subset of $G_{1} \times$ $G_{2} \times \cdots \times G_{n}$ that satisfies

$$
\begin{align*}
& \left(A_{1} \times A_{2} \times \cdots \times A_{n}\right)\left(x_{1}, x_{2}, \ldots, x_{n}\right) \\
& \quad=A_{1}\left(x_{1}\right) \wedge A_{2}\left(x_{2}\right) \wedge \cdots \wedge A_{n}\left(x_{n}\right) . \tag{1}
\end{align*}
$$

Example 4. We define the fuzzy subsets $A$ and $B$ of $\mathbb{Z}$ and $\mathbb{Z}_{2}$, respectively, as follows:

$$
\begin{align*}
& A(x)= \begin{cases}0.5, & x \in 2 \mathbb{Z} \\
0.3, & \text { otherwise }\end{cases}  \tag{2}\\
& B(x)= \begin{cases}0.7, & x=\overline{0} \\
0.2, & x=\overline{1}\end{cases}
\end{align*}
$$

We obtain that

$$
A \times B(x)= \begin{cases}0.5, & x \in 2 \mathbb{Z} \times\{\overline{0}\}  \tag{3}\\ 0.3, & x \in \mathbb{Z}-\{2 \mathbb{Z}\} \times\{\overline{0}\} \\ 0.2, & \text { otherwise }\end{cases}
$$

Theorem 5. Let $G_{1}, G_{2}, \ldots, G_{n}$ be groups and $\bigvee_{i=1}^{n} \lambda_{i}<\bigwedge_{i=1}^{n} \mu_{i}$ such that $A_{i}$ is $\left(\lambda_{i}, \mu_{i}\right)$-L-subgroup of $G_{i}$ for each $i=1,2, \ldots, n$. Then $A_{1} \times A_{2} \times \cdots \times A_{n}$ is $\left(\bigvee_{i=1}^{n} \lambda_{i}, \bigwedge_{i=1}^{n} \mu_{i}\right)$-L-subgroup of $G_{1} \times G_{2} \times \cdots \times G_{n}$.

Proof. Let $\left(x_{1}, x_{2}, \ldots, x_{n}\right),\left(y_{1}, y_{2}, \ldots, y_{n}\right) \in G_{1} \times G_{2} \times \cdots \times G_{n}$. Then

$$
\begin{align*}
& A_{1} \times A_{2} \times \cdots \times A_{n}\left(\left(x_{1}, x_{2}, \ldots, x_{n}\right) \cdot\left(y_{1}, y_{2}, \ldots, y_{n}\right)\right) \\
& \\
& \quad \vee \bigvee_{i=1}^{n} \lambda_{i}=A_{1} \times A_{2} \times \cdots \\
& \quad \times A_{n}\left(x_{1} y_{1}, x_{2} y_{2}, \ldots, x_{n} y_{n}\right) \vee \lambda_{1} \vee \bigvee_{i=1}^{n} \lambda_{i} \\
& \quad=\left(A_{1}\left(x_{1} y_{1}\right) \wedge A_{2}\left(x_{2} y_{2}\right) \wedge \cdots \wedge A_{n}\left(x_{n} y_{n}\right)\right)  \tag{4}\\
& \\
& \vee \bigvee_{i=1}^{n} \lambda_{i} \geq\left(A_{1}\left(x_{1} y_{1}\right) \vee \lambda_{1}\right) \wedge\left(A_{2}\left(x_{2} y_{2}\right) \vee \lambda_{2}\right) \\
& \\
& \wedge \cdots \wedge\left(A_{n}\left(x_{n} y_{n}\right) \vee \lambda_{n}\right) \geq A_{1}\left(x_{1}\right) \wedge A_{1}\left(y_{1}\right) \wedge \mu_{1} \\
& \\
& \wedge A_{2}\left(x_{2}\right) \wedge A_{2}\left(y_{2}\right) \wedge \mu_{2} \wedge \cdots \wedge A_{n}\left(x_{n}\right) \wedge A_{n}\left(y_{n}\right) \\
& \\
& \wedge \mu_{n}=A_{1} \times A_{2} \times \cdots \times A_{n}\left(x_{1}, x_{2}, \ldots, x_{n}\right) \wedge A_{1} \\
& \quad \times A_{2} \times \cdots \times A_{n}\left(y_{1}, y_{2}, \ldots, y_{n}\right) \wedge \bigwedge_{i=1}^{n} \mu_{i} .
\end{align*}
$$

Similarly, it can be shown that

$$
\begin{align*}
A_{1} & \times A_{2} \times \cdots \times A_{n}\left(\left(x_{1}, x_{2}, \ldots, x_{n}\right)^{-1}\right) \vee \bigvee_{i=1}^{n} \lambda_{i} \\
& \geq A_{1} \times A_{2} \times \cdots \times A_{n}\left(x_{1}, x_{2}, \ldots, x_{n}\right) \wedge \bigwedge_{i=1}^{n} \mu_{i} \tag{5}
\end{align*}
$$

Corollary 6. If $A_{1}, A_{2}, \ldots, A_{n}$ are $(\lambda, \mu)$-L-subgroups of $G_{1}, G_{2}, \ldots, G_{n}$, respectively, then $A_{1} \times A_{2} \times \cdots \times A_{n}$ is $(\lambda, \mu)$ -L-subgroup of $G_{1} \times G_{2} \times \cdots \times G_{n}$.

Theorem 7 (Theorem 2.9, [16]). Let $G_{1}, G_{2}, \ldots, G_{n}$ be groups, let $e_{1}, e_{2}, \ldots, e_{n}$ be identities, respectively, and let $A$ be a fuzzy subgroup in $G_{1} \times G_{2} \times \cdots \times G_{n}$. Then $A\left(e_{1}, e_{2}, \ldots, e_{i-1}, x_{i}, e_{i+1}, \ldots, e_{n}\right) \geq A\left(x_{1}, x_{2}, \ldots, x_{n}\right)$ for $i=$ $1,2, \ldots, k-1, k+1, \ldots, n$ if and only if $A=A_{1} \times A_{2} \times \cdots \times A_{n}$, where $A_{1}, A_{2}, \ldots, A_{n}$ are fuzzy subgroups of $G_{1}, G_{2}, \ldots, G_{n}$, respectively.

The following example shows that Theorem 7 may not be true for any $(\lambda, \mu)$ - $L$-subgroup.

Example 8. Consider

$$
A(x)= \begin{cases}0.8, & x=(\overline{0}, \overline{0})  \tag{6}\\ 0.7, & x=(\overline{1}, \overline{0}) \\ 0.6, & x=(\overline{0}, \overline{1}) \\ 0.5, & x=(\overline{1}, \overline{1})\end{cases}
$$

It is easy to see that $A$ is ( $0,0.5$ )-fuzzy subgroup of $\mathbb{Z}_{2} \times \mathbb{Z}_{2}$. Since $A(\overline{1}, \overline{0}) \geq A(\overline{1}, \overline{1})$ and $A(\overline{0}, \overline{1}) \geq A(\overline{1}, \overline{1}), A$ satisfies the
condition of Theorem 7, but there do not exist $A_{1}, A_{2}$ fuzzy subgroups of $\mathbb{Z}_{2} \times \mathbb{Z}_{2}$ such that $A=A_{1} \times A_{2}$.

In fact, suppose that there exist $A_{1}, A_{2} \in F S\left(0,0.5, \mathbb{Z}_{2} \times\right.$ $\mathbb{Z}_{2}$ ) such that $A=A_{1} \times A_{2}$. Since $A(\overline{1}, \overline{0})=0.7$ and $A(\overline{0}, \overline{1})=$ 0.6 , we have $A_{1}(\overline{1}) \geq 0.7$ and $A_{2}(\overline{1}) \geq 0.6$. Hence

$$
\begin{align*}
0.5 & =A_{1} \times A_{2}(\overline{1}, \overline{1})=A_{1}(\overline{1}) \wedge A_{2}(\overline{1}) \geq 0.7 \wedge 0.6  \tag{7}\\
& =0.6
\end{align*}
$$

a contradiction.
Definition 9. Let $A_{i}$ be an $L$-subset of $G_{i}$ for each $i=$ $1,2, \ldots, n$. Then $(\lambda, \mu)$-product of $A_{i}(i=1,2, \ldots, n)$ denoted by $A_{1} \times{ }_{\mu}^{\lambda} A_{2} \times{ }_{\mu}^{\lambda} \cdots \times_{\mu}^{\lambda} A_{n}$ is defined to be an $L$-subset of $G_{1} \times$ $G_{2} \times \cdots \times G_{n}$ that satisfies

$$
\begin{align*}
& \left(A_{1} \times_{\mu}^{\lambda} A_{2} \times{ }_{\mu}^{\lambda} \cdots \times_{\mu}^{\lambda} A_{n}\right)\left(x_{1}, x_{2}, \ldots, x_{n}\right) \\
& \quad=\left(A_{1}\left(x_{1}\right) \wedge A_{2}\left(x_{2}\right) \wedge \cdots \wedge A_{n}\left(x_{n}\right) \wedge \mu\right) \vee \lambda  \tag{8}\\
& \quad=\left(\bigwedge_{i=1}^{n} A_{i}\left(x_{i}\right) \wedge \mu\right) \vee \lambda
\end{align*}
$$

Example 10. We define the fuzzy subsets $A$ and $B$ of $\mathbb{Z}$ and $\mathbb{Z}_{2}$, respectively, as in Example 4 . Then ( $0.4,0.6$ )-product of $A$ and $B$ is as follows:

$$
A \times_{0.6}^{0.4} B(x)= \begin{cases}0.5, & x \in 2 \mathbb{Z} \times\{\overline{0}\}  \tag{9}\\ 0.4, & \text { otherwise }\end{cases}
$$

Lemma 11. Let $G_{1}, G_{2}, \ldots, G_{n}$ be groups. Then we have the following:
(1) If $A$ is $(\lambda, \mu)$-L-subgroup of $G_{1} \times G_{2} \times, \ldots, G_{n}$ and $A_{i}(x)=A\left(e_{1}, e_{2}, \ldots, e_{i-1}, x, e_{i+1}, \ldots, e_{n}\right)$ for $i=$ $1,2, \ldots, n$, then $A_{i}$ is $(\lambda, \mu)$-L-subgroup of $G_{i}$ for all $i=1,2, \ldots, n$.
(2) If $A_{i}$ is $(\lambda, \mu)$-L-subgroup of $G_{i}$ for all $i=1,2, \ldots, n$, then $A_{1} \times{ }_{\mu}^{\lambda} A_{2} \times{ }_{\mu}^{\lambda} \cdots \times_{\mu}^{\lambda} A_{n}$ is $(\lambda, \mu)$-L-subgroup of $G_{1} \times$ $G_{2} \times, \ldots, G_{n}$.

Proof. (1) Let $x, y \in G_{i}$. Since $A \in F S\left(\lambda, \mu, G_{1} \times G_{2} \times\right.$, $\left.\ldots, G_{n}, L\right)$, we have

$$
\begin{align*}
A_{i}(x) & \wedge A_{i}(y) \wedge \mu \\
= & A\left(e_{1}, e_{2}, \ldots, e_{i-1}, x, e_{i+1}, \ldots, e_{n}\right) \\
& \wedge A\left(e_{1}, e_{2}, \ldots, e_{i-1}, y, e_{i+1}, \ldots, e_{n}\right) \wedge \mu  \tag{10}\\
\leq & A\left(e_{1}, e_{2}, \ldots, e_{i-1}, x \cdot y, e_{i+1}, \ldots, e_{n}\right) \vee \lambda \\
= & A_{i}(x \cdot y) \vee \lambda
\end{align*}
$$

Similarly, we can show that $A_{i}(x) \wedge \mu \leq A_{i}\left(x^{-1}\right) \vee \lambda$. Hence, $A_{i} \in F S\left(\lambda, \mu, G_{i}, L\right)$ by Definition 2 for $i=1,2, \ldots, n$.
(2) $\operatorname{Let}\left(x_{1}, x_{2}, \ldots, x_{n}\right),\left(y_{1}, y_{2}, \ldots, y_{n}\right) \in G_{1} \times G_{2} \times, \ldots, G_{n}$. Then,

$$
\begin{align*}
& A_{1} \times{ }_{\mu}^{\lambda} A_{2} \times{ }_{\mu}^{\lambda} \cdots \times_{\mu}^{\lambda} A_{n}\left(\left(x_{1}, x_{2}, \ldots, x_{n}\right)\left(y_{1}, y_{2}, \ldots, y_{n}\right)\right) \\
& \vee \lambda=A_{1} \times_{\mu}^{\lambda} A_{2} \times_{\mu}^{\lambda} \cdots \times_{\mu}^{\lambda} A_{n}\left(x_{1} y_{1}, x_{2} y_{2}, \ldots, x_{n} y_{n}\right) \\
& \vee \lambda=\left(\bigwedge_{i=1}^{n} A_{i}\left(x_{i} y_{i}\right) \wedge \mu\right) \vee \lambda=\left(\left(A_{1}\left(x_{1} y_{1}\right) \vee \lambda\right)\right. \\
& \left.\wedge\left(A_{2}\left(x_{2} y_{2}\right) \vee \lambda\right) \wedge \cdots \wedge\left(A_{n}\left(x_{n} y_{n}\right) \vee \lambda\right) \wedge \mu\right) \\
& \vee \lambda \geq\left(A_{1}\left(x_{1}\right) \wedge A_{1}\left(y_{1}\right) \wedge \mu \wedge A_{2}\left(x_{2}\right) \wedge A_{2}\left(y_{2}\right)\right.  \tag{11}\\
& \left.\wedge \mu \wedge \cdots \wedge A_{n}\left(x_{n}\right) \wedge A_{n}\left(y_{n}\right) \wedge \mu\right) \vee \lambda \\
& =\left(\left(\bigwedge_{i=1}^{n} A_{i}\left(x_{i}\right) \wedge \mu\right) \vee \lambda\right) \wedge\left(\left(\bigwedge_{i=1}^{n} A_{i}\left(y_{i}\right) \wedge \mu\right)\right. \\
& \vee \lambda) \wedge \mu=A_{1} \times{ }_{\mu}^{\lambda} A_{2} \times{ }_{\mu}^{\lambda} \cdots \times_{\mu}^{\lambda} A_{n}\left(x_{1}, x_{2}, \ldots, x_{n}\right) \\
& \wedge A_{1} \times{ }_{\mu}^{\lambda} A_{2} \times{ }_{\mu}^{\lambda} \cdots \times_{\mu}^{\lambda} A_{n}\left(y_{1}, y_{2}, \ldots, y_{n}\right) \wedge \mu .
\end{align*}
$$

Similarly, we can show that

$$
\begin{align*}
& A_{1} \times{ }_{\mu}^{\lambda} A_{2} \times_{\mu}^{\lambda} \cdots \times_{\mu}^{\lambda} A_{n}\left(\left(x_{1}, x_{2}, \ldots, x_{n}\right)^{-1}\right) \vee \lambda  \tag{12}\\
& \quad \geq A_{1} \times{ }_{\mu}^{\lambda} A_{2} \times \times_{\mu}^{\lambda} \cdots \times_{\mu}^{\lambda} A_{n}\left(x_{1}, x_{2}, \ldots, x_{n}\right) \wedge \mu
\end{align*}
$$

Hence, $A_{1} \times{ }_{\mu}^{\lambda} A_{2} \times{ }_{\mu}^{\lambda} \cdots \times_{\mu}^{\lambda} A_{n}$ is $(\lambda, \mu)$-L-subgroup of $G_{1} \times$ $G_{2} \times, \ldots, G_{n}$.

Theorem 12. Let $G_{1}, G_{2}, \ldots, G_{n}$ be groups and $A \in F S(\lambda, \mu$, $\left.G_{1} \times G_{2} \times \cdots \times G_{n}, L\right)$. Then $\left(A\left(e_{1}, e_{2}, \ldots, e_{i-1}, x_{i}, e_{i+1}, \ldots, e_{n}\right) \wedge\right.$ $\left.A\left(x_{1}, x_{2}, \ldots, x_{i-1}, e_{i}, x_{i+1}, \ldots, x_{n}\right) \wedge \mu\right) \vee \lambda=A\left(x_{1}, x_{2}, \ldots, x_{n}\right)$ for $i=1,2, \ldots, n$ if and only if $A=A_{1} \times_{\mu}^{\lambda} A_{2} \times{ }_{\mu}^{\lambda} \cdots \times_{\mu}^{\lambda} A_{n}$, where $A_{i}(x)=A\left(e_{1}, e_{2}, \ldots, e_{i-1}, x, e_{i+1}, \ldots, e_{n}\right)$.

Proof. Suppose that $\left(A\left(e_{1}, e_{2}, \ldots, e_{i-1}, x_{i}, e_{i+1}, \ldots, e_{n}\right) \wedge A\left(x_{1}\right.\right.$, $\left.\left.x_{2}, \ldots, x_{i-1}, e_{i}, x_{i+1}, \ldots, x_{n}\right) \wedge \mu\right) \vee \lambda=A\left(x_{1}, x_{2}, \ldots, x_{n}\right)$ for $i=1,2, \ldots, n$. Now, for any $\left(x_{1}, x_{2}, \ldots, x_{n}\right) \in G_{1} \times G_{2} \times \cdots \times G_{n}$, we have

$$
\begin{aligned}
A & \left(x_{1}, x_{2}, \ldots, x_{n}\right)=\left(A\left(x_{1}, e_{2}, \ldots, e_{n}\right)\right. \\
& \left.\wedge A\left(e_{1}, x_{2}, \ldots, x_{n}\right) \wedge \mu\right) \vee \lambda \\
= & \left(A_{1}\left(x_{1}\right)\right. \\
& \wedge\left(\left(A\left(e_{1}, x_{2}, \ldots, e_{n}\right) \wedge A\left(e_{1}, e_{2}, x_{3}, \ldots, x_{n}\right) \wedge \mu\right)\right. \\
& \vee \lambda) \wedge \mu) \vee \lambda
\end{aligned}
$$

$$
\begin{align*}
= & \left(A_{1}\left(x_{1}\right) \wedge A_{2}\left(x_{2}\right) \wedge A\left(e_{1}, e_{2}, x_{3}, \ldots, x_{n}\right) \wedge \mu\right) \\
& \vee \lambda \\
= & \left(A_{1}\left(x_{1}\right) \wedge A_{2}\left(x_{2}\right) \wedge \cdots \wedge A\left(e_{1}, e_{2}, \ldots, x_{n}\right) \wedge \mu\right) \\
& \vee \lambda \\
= & A_{1} \times{ }_{\mu}^{\lambda} A_{2} \times{ }_{\mu}^{\lambda} \cdots \times_{\mu}^{\lambda} A_{n}\left(x_{1}, x_{2}, \ldots, x_{n}\right) . \tag{13}
\end{align*}
$$

Hence we obtain that $A=A_{1} \times{ }_{\mu}^{\lambda} A_{2} \times{ }_{\mu}^{\lambda} \cdots \times_{\mu}^{\lambda} A_{n}$. Conversely, assume that $A=A_{1} \times{ }_{\mu}^{\lambda} A_{2} \times_{\mu}^{\lambda} \cdots \times_{\mu}^{\lambda} A_{n}$. Then, we obtain

$$
\begin{align*}
A & \left(x_{1}, x_{2}, \ldots, x_{n}\right)=A_{1} \times_{\mu}^{\lambda} A_{2} \times_{\mu}^{\lambda} \\
& \ldots \times_{\mu}^{\lambda} A_{n}\left(x_{1}, x_{2}, \ldots, x_{n}\right) \\
= & \left(A\left(x_{1}, e_{2}, \ldots, e_{n}\right) \wedge A\left(e_{1}, x_{2}, \ldots, e_{n}\right) \wedge \cdots\right. \\
& \left.\wedge A\left(e_{1}, e_{2}, \ldots, x_{n}\right) \wedge \mu\right) \vee \lambda \\
\leq & \left(A\left(x_{1}, e_{2}, \ldots, e_{n}\right) \wedge A\left(e_{1}, x_{2}, \ldots, e_{n}\right) \wedge \cdots\right. \\
& \left.\wedge\left(A\left(e_{1}, e_{2}, \ldots, x_{n-1}, x_{n}\right) \vee \lambda\right) \wedge \mu\right) \vee \lambda  \tag{14}\\
= & \left(A\left(x_{1}, e_{2}, \ldots, e_{n}\right) \wedge A\left(e_{1}, x_{2}, \ldots, e_{n}\right) \wedge \cdots\right. \\
& \left.\wedge A\left(e_{1}, e_{2}, \ldots, x_{n-1}, x_{n}\right) \wedge \mu\right) \vee \lambda \\
\quad & \vdots \\
\leq & \left(A\left(x_{1}, e_{2}, \ldots, e_{n}\right) \wedge A\left(e_{1}, x_{2}, \ldots, x_{n}\right) \wedge \mu\right) \vee \lambda
\end{align*}
$$

On the other hand, $\left(A\left(x_{1}, e_{2}, \ldots, e_{n}\right) \wedge A\left(e_{1}, x_{2}, \ldots, x_{n}\right) \wedge \mu\right) \vee$ $\lambda \leq A\left(x_{1}, x_{2}, \ldots, x_{n}\right) \vee \lambda$.

Since $A\left(x_{1}, x_{2}, \ldots, x_{n}\right) \geq \lambda,\left(A\left(x_{1}, e_{2}, \ldots, e_{n}\right) \wedge A\left(e_{1}, x_{2}\right.\right.$, $\left.\left.\ldots, x_{n}\right) \wedge \mu\right) \vee \lambda \leq A\left(x_{1}, x_{2}, \ldots, x_{n}\right)$.

Hence, $A\left(x_{1}, x_{2}, \ldots, x_{n}\right)=\left(A\left(x_{1}, e_{2}, \ldots, e_{n}\right) \wedge A\left(e_{1}, x_{2}\right.\right.$, $\left.\left.\ldots, x_{n}\right) \wedge \mu\right) \vee \lambda$.

Similarly, we get $\left(A\left(e_{1}, e_{2}, \ldots, e_{i-1}, x_{i}, e_{i+1}, \ldots, e_{n}\right) \wedge\right.$ $\left.A\left(x_{1}, x_{2}, \ldots, x_{i-1}, e_{i}, x_{i+1}, \ldots, x_{n}\right) \wedge \mu\right) \vee \lambda=A\left(x_{1}, x_{2}, \ldots, x_{n}\right)$ for $i=2,3, \ldots, n$.

Lemma 13. Let $G_{1}, G_{2}, \ldots, G_{n}$ be groups, let $e_{1}, e_{2}, \ldots, e_{n}$ be identities of $G_{1}, G_{2}, \ldots, G_{n}$, respectively, and $A \in F S\left(\lambda, \mu, G_{1} \times\right.$ $\left.G_{2} \times \cdots \times G_{n}\right)$. If $\left(A\left(e_{1}, e_{2}, \ldots, e_{i-1}, x_{i}, e_{i+1}, \ldots, e_{n}\right) \wedge \mu\right) \vee \lambda \geq$ $A\left(x_{1}, x_{2}, \ldots, x_{n}\right)$ for $i=1,2, \ldots, k-1, k+1, \ldots, n$, then $\left(A\left(e_{1}, e_{2}, \ldots, e_{k-1}, x_{k}, e_{k+1}, \ldots, e_{n}\right) \wedge \mu\right) \vee \lambda \geq A\left(x_{1}\right.$, $\left.x_{2}, \ldots, x_{n}\right)$.

Proof. By Definition 2, we observe that

$$
\begin{aligned}
& \left(A\left(e_{1}, e_{2}, \ldots, e_{k-1}, x_{k}, e_{k+1}, \ldots, e_{n}\right) \wedge \mu\right) \vee \lambda \\
& \quad=\left(A \left(\left(x_{1}, x_{2}, \ldots, x_{n}\right)\right.\right. \\
& \left.\left.\quad \cdot\left(x_{1}^{-1}, x_{2}^{-1}, \ldots, x_{k-1}^{-1}, e_{k}, x_{k+1}^{-1}, \ldots, x_{n}^{-1}\right)\right) \wedge \mu\right) \vee \lambda
\end{aligned}
$$

$$
\begin{align*}
& =\left(A \left(\left(x_{1}, x_{2}, \ldots, x_{n}\right)\right.\right. \\
& \left.\left.\cdot\left(x_{1}^{-1}, x_{2}^{-1}, \ldots, x_{k-1}^{-1}, e_{k}, x_{k+1}^{-1}, \ldots, x_{n}^{-1}\right)\right) \vee \lambda\right) \wedge \mu \\
& \geq\left(A\left(x_{1}, x_{2}, \ldots, x_{n}\right)\right. \\
& \left.\wedge A\left(x_{1}^{-1}, x_{2}^{-1}, \ldots, x_{k-1}^{-1}, e_{k}, x_{k+1}^{-1}, \ldots, x_{n}^{-1}\right) \wedge \mu\right) \vee \lambda \\
& =\left(A\left(x_{1}, x_{2}, \ldots, x_{n}\right) \vee \lambda\right) \\
& \wedge\left(A\left(x_{1}^{-1}, x_{2}^{-1}, \ldots, x_{k-1}^{-1}, e_{k}, x_{k+1}^{-1}, \ldots, x_{n}^{-1}\right) \vee \lambda\right) \\
& \wedge \mu \\
& \geq\left(\left(A\left(x_{1}, x_{2}, \ldots, x_{n}\right) \vee \lambda\right)\right. \\
& \left.\wedge A\left(x_{1}, x_{2}, \ldots, x_{k-1}, e_{k}, x_{k+1}, \ldots, x_{n}\right) \wedge \mu\right) \vee \lambda \\
& =\left(A\left(x_{1}, x_{2}, \ldots, x_{n}\right) \vee \lambda\right) \\
& \wedge\left(A\left(x_{1}, x_{2}, \ldots, x_{k-1}, e_{k}, x_{k+1}, \ldots, x_{n}\right) \vee \lambda\right) \wedge \mu \\
& \geq\left(\left(A\left(x_{1}, x_{2}, \ldots, x_{n}\right) \vee \lambda\right)\right. \\
& \wedge\left(A\left(e_{1}, \ldots, e_{k-2}, x_{k-1}, e_{k}, \ldots, e_{n}\right)\right. \\
& \left.\left.\wedge A\left(x_{1}, \ldots, e_{k-1}, e_{k}, x_{k+1}, \ldots, x_{n}\right) \wedge \mu\right)\right) \vee \lambda \\
& =\left(A\left(x_{1}, x_{2}, \ldots, x_{n}\right) \vee \lambda\right) \\
& \wedge\left(A\left(x_{1}, \ldots, e_{k-1}, e_{k}, x_{k+1}, \ldots, x_{n}\right) \wedge \mu\right) \vee \lambda \\
& \geq A\left(x_{1}, x_{2}, \ldots, x_{n}\right) \vee \lambda \\
& \geq A\left(x_{1}, x_{2}, \ldots, x_{n}\right) \text {. } \tag{15}
\end{align*}
$$

Lemma 14. Let $G_{1}, G_{2}, \ldots, G_{n}$ be groups and $A \in F S(0$, $\left.\mu, G_{1} \times G_{2} \times \cdots \times G_{n}, L\right)$. Then $A\left(e_{1}, e_{2}, \ldots, e_{i-1}, x_{i}, e_{i+1}, \ldots, e_{n}\right) \wedge$ $A\left(x_{1}, x_{2}, \ldots, x_{i-1}, e_{i}, x_{i+1}, \ldots, x_{n}\right) \wedge \mu=A\left(x_{1}, x_{2}, \ldots, x_{n}\right)$ for $i=1,2, \ldots, n$ if and only if $A\left(e_{1}, e_{2}, \ldots, e_{i-1}, x_{i}, e_{i+1}, \ldots, e_{n}\right) \wedge$ $\mu \geq A\left(x_{1}, x_{2}, \ldots, x_{n}\right)$ for $i=1,2, \ldots, k-1, k+1, \ldots, n$.

Proof. Now assume that $A\left(e_{1}, e_{2}, \ldots, e_{i-1}, x_{i}, e_{i+1}, \ldots, e_{n}\right) \wedge$ $A\left(x_{1}, x_{2}, \ldots, x_{i-1}, e_{i}, x_{i+1}, \ldots, x_{n}\right) \wedge \mu=A\left(x_{1}, x_{2}, \ldots, x_{n}\right)$ for $i=1,2, \ldots, n$. Next, for any $\left(x_{1}, x_{2}, \ldots, x_{n}\right) \in G_{1} \times G_{2} \times \cdots \times G_{n}$, we have

$$
\begin{align*}
A( & \left.x_{1}, x_{2}, \ldots, x_{n}\right) \\
= & A\left(e_{1}, e_{2}, \ldots, e_{i-1}, x_{i}, e_{i+1}, \ldots, e_{n}\right) \\
& \wedge A\left(x_{1}, x_{2}, \ldots, x_{i-1}, e_{i}, x_{i+1}, \ldots, x_{n}\right) \wedge \mu  \tag{16}\\
\leq & A\left(e_{1}, e_{2}, \ldots, e_{i-1}, x_{i}, e_{i+1}, \ldots, e_{n}\right) \wedge \mu .
\end{align*}
$$

Conversely, assume that $A\left(e_{1}, e_{2}, \ldots, e_{i-1}, x_{i}, e_{i+1}, \ldots, e_{n}\right) \wedge$ $\mu \geq A\left(x_{1}, x_{2}, \ldots, x_{n}\right)$ for $i=1,2, \ldots, k-1, k+1, \ldots, n$. By

Definition 2 and Lemma 11, we obtain that

$$
\begin{aligned}
A & \left(x_{1}, x_{2}, \ldots, x_{n}\right)=A\left(x_{1}, x_{2}, \ldots, x_{n}\right) \\
& \wedge A\left(x_{1}, x_{2}, \ldots, x_{n}\right) \wedge \cdots \wedge A\left(x_{1}, x_{2}, \ldots, x_{n}\right) \\
\leq & A\left(x_{1}, e_{2}, \ldots, e_{n}\right) \wedge A\left(e_{1}, x_{2}, \ldots, e_{n}\right) \wedge \ldots \\
& \wedge A\left(e_{1}, e_{2}, \ldots, x_{n}\right) \wedge \mu \\
\leq & A\left(x_{1}, e_{2}, \ldots, e_{n}\right) \wedge A\left(e_{1}, x_{2}, \ldots, e_{n}\right) \wedge \ldots \\
& \wedge A\left(e_{1}, e_{2}, \ldots, x_{n-1}, x_{n}\right) \wedge \mu \\
& \vdots \\
\leq & A\left(x_{1}, e_{2}, \ldots, e_{n}\right) \wedge A\left(e_{1}, x_{2}, \ldots, x_{n}\right) \wedge \mu \\
\leq & A\left(x_{1}, x_{2}, \ldots, x_{n}\right)
\end{aligned}
$$

Hence, $A\left(x_{1}, x_{2}, \ldots, x_{n}\right)=A\left(x_{1}, e_{2}, \ldots, e_{n}\right) \wedge A\left(e_{1}, x_{2}, \ldots\right.$, $\left.x_{n}\right) \wedge \mu$. Similarly, we get $A\left(e_{1}, e_{2}, \ldots, e_{i-1}, x_{i}, e_{i+1}, \ldots, e_{n}\right) \wedge$ $A\left(x_{1}, x_{2}, \ldots, x_{i-1}, e_{i}, x_{i+1}, \ldots, x_{n}\right)=A\left(x_{1}, x_{2}, \ldots, x_{n}\right)$ for $i=$ $2,3, \ldots, n$.

As a consequence of Theorem 12 and Lemma 14, we have the following corollary.

Corollary 15. Let $G_{1}, G_{2}, \ldots, G_{n}$ be groups and $A \in F S(0, \mu$, $\left.G_{1} \times G_{2} \times \cdots \times G_{n}, L\right)$. Then $A\left(e_{1}, e_{2}, \ldots, e_{i-1}, x_{i}, e_{i+1}, \ldots, e_{n}\right) \wedge$ $\mu \geq A\left(x_{1}, x_{2}, \ldots, x_{n}\right)$ for $i=1,2, \ldots, k-1, k+1, \ldots, n$ if and only if $A=A_{1} \times{ }_{\mu} A_{2} \times_{\mu} \cdots \times_{\mu} A_{n}$, where $A_{i}(x)=A\left(e_{1}\right.$, $\left.e_{2}, \ldots, e_{i-1}, x, e_{i+1}, \ldots, e_{n}\right)$.

The following example shows that Corollary 15 may not be true when $\lambda \neq 0$.

Example 16. Consider

$$
A(x)= \begin{cases}0.4, & x=(\overline{0}, \overline{0})  \tag{18}\\ 0.3, & x=(\overline{1}, \overline{0}) \\ 0.2, & x=(\overline{0}, \overline{1}) \\ 0.1, & x=(\overline{1}, \overline{1})\end{cases}
$$

$A$ is (0.2, 0.5)-fuzzy subgroup of $\mathbb{Z}_{2} \times \mathbb{Z}_{2}$ and satisfies the necessary condition of Corollary 15. But there is not any $A_{1}$ and $A_{2}$, (0.2, 0.5)-fuzzy subgroup of $\mathbb{Z}_{2} \times \mathbb{Z}_{2}$, which hold $A=A_{1} \times_{0.5}^{0.2} A_{2}$.

## 4. Conclusion

In this study, we give a necessary and sufficient condition for $(0, \mu)$ - $L$-subgroup of a Cartesian product of groups to be a product of $(0, \mu)$ - $L$-subgroups. The results obtained are not valid for $\lambda \neq 0$, and a counterexample is provided.

## Conflict of Interests

The authors declare that there is no conflict of interests regarding the publication of this paper.

## References

[1] P. M. Pu and Y. M. Liu, "Fuzzy topology. I. Neighborhood structure of a fuzzy point and Moore-Smith convergence," Journal of Mathematical Analysis and Applications, vol. 76, no. 2, pp. 571599, 1980.
[2] S. K. Bhakat and P. Das, "( $\in, \in \vee \mathrm{q})$-fuzzy subgroup," Fuzzy Sets and Systems, vol. 80, no. 3, pp. 359-368, 1996.
[3] S. K. Bhakat and P. Das, "On the definition of a fuzzy subgroup," Fuzzy Sets and Systems, vol. 51, no. 2, pp. 235-241, 1992.
[4] A. Rosenfeld, "Fuzzy groups," Journal of Mathematical Analysis and Applications, vol. 35, pp. 512-517, 1971.
[5] M. Akram, K. H. Dar, and K. P. Shum, "Interval-valued $(\alpha, \beta)-$ fuzzy K-algebras," Applied Soft Computing Journal, vol. 11, no. 1, pp. 1213-1222, 2011.
[6] M. Akram, B. Davvaz, and K. P. Shum, "Generalized fuzzy LIE ideals of LIE algebras," Fuzzy Systems and Mathematics, vol. 24, no. 4, pp. 48-55, 2010.
[7] M. Akram, "Generalized fuzzy Lie subalgebras," Journal of Generalized Lie Theory and Applications, vol. 2, no. 4, pp. 261-268, 2008.
[8] S. K. Bhakat, "( $\epsilon, \in \vee q)$-fuzzy normal, quasinormal and maximal subgroups," Fuzzy Sets and Systems, vol. 112, no. 2, pp. 299-312, 2000.
[9] M. Shabir, Y. B. Jun, and Y. Nawaz, "Characterizations of regular semigroups by $(\alpha, \beta)$-fuzzy ideals," Computers \& Mathematics with Applications, vol. 59, no. 1, pp. 161-175, 2010.
[10] X. Yuan, C. Zhang, and Y. Ren, "Generalized fuzzy groups and many-valued implications," Fuzzy Sets and Systems, vol. 138, no. 1, pp. 205-211, 2003.
[11] S. Abdullah, M. Aslam, T. A. Khan, and M. Naeem, "A new type of fuzzy normal subgroups and fuzzy cosets," Journal of Intelligent and Fuzzy Systems, vol. 25, no. 1, pp. 37-47, 2013.
[12] D. Bayrak and S. Yamak, "The lattice of generalized normal Lsubgroups," Journal of Intelligent and Fuzzy Systems, vol. 27, no. 3, pp. 1143-1152, 2014.
[13] Y. Feng and P. Corsini, " $(\lambda, \mu)$-Fuzzy ideals of ordered semigroups," Annals of Fuzzy Mathematics and Informatics, vol. 4, no. 1, pp. 123-129, 2012.
[14] Y. B. Jun, M. S. Kang, and C. H. Park, "Fuzzy subgroups based on fuzzy points," Communications of the Korean Mathematical Society, vol. 26, no. 3, pp. 349-371, 2011.
[15] B. Yao, " $(\lambda, \mu)$-Fuzzy normal subgroups, $(\lambda, \mu)$-fuzzy quotient subgroups," The Journal of Fuzzy Mathematics, vol. 13, no. 3, pp. 695-705, 2005.
[16] I. Chon, "Fuzzy subgroups as products," Fuzzy Sets and Systems, vol. 141, no. 3, pp. 505-508, 2004.
[17] S. Yamak, O. Kazanc1, and D. Bayrak, "A solution to an open problem on the T-product of TL-fuzzy subgroups," Fuzzy Sets and Systems, vol. 178, pp. 102-106, 2011.
[18] J. A. Goguen, "L-fuzzy sets," Journal of Mathematical Analysis and Applications, vol. 18, pp. 145-174, 1967.
[19] L. A. Zadeh, "Fuzzy sets," Information and Computation, vol. 8, pp. 338-353, 1965.
[20] J. N. Mordeson and D. S. Malik, Fuzzy Commutative Algebra, World Scientific, 1998.


Advances in
Operations Research
$=$


## The Scientific World Journal



International
Journal of
Mathematics and
Mathematical
Sciences

Advances in
Decision Sciences
$\pm=$

Applied Mathematics
$\pm$ - mo.


## Hindawi

Submit your manuscripts at http://www.hindawi.com


Journal of Function Spaces
$\qquad$



International Journal of Differential Equations
0
$\cdots$


